PS.C. CLERKSHIP EXAMINATION—2007
(Held on 15/06/08) (Ist Half)

. The Satpura Range is a :

(A) Block Mountain (B) Fold Mountain

(C) Volcanic Mountain (D) Relict Mountain

Who among the following is famous as the “Tragedy King

19

of Indian cinema?

(A) Raj Kapoor (B) Dilip Kumar

(C) Bharat Bhushan (D) Ashok Kumar

5 cultivators can weed out 8 bighas of land in 4 days. 25
‘cultivators take to weed out 70 bighas of land in :

(A) S days (B) 6 days

(C) 7 days (D) 8 days

The square of the sum of two numbers is 625, and the square

(S ]

d.
of their difference is 81. The numbers are :
(A) 17.8 (B) 16, 9
(C) 18.7 (D) 20, 5

5. A cloth of lehgth 3471 metre is cut into pieces. each of length
being 11 metre. How many such pieces can be cut?
(A) 18 (B) 19
(C) 20 (D) 21

6. Mallikarjun Mansoor the musician who dies in 1992 at the age .
of 82 was a :

(B) Vocalist

(A) Violinist .
(D) Tabla player

" (C) Sitar player
7. The chief port of Gujarat is :

R (A) Porbandar (B) Surat
~ . (C) Okha (D) Kandla
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o g um i times the
8. If 15 is added to 5 times. av\numbervth‘e sum i1s 6
' humber. The number s - | ,
(A) 15 (B) 16-
- O 17 (D) 18
0

. Ram, Shyam and Jadu .indiv
21 and 24 hours respectivel
the work: they will take -

idually. can plbugh a garden in ] 8,
y- If they work together, to finish

(A) 686

53 hrs (B) S%g h‘.rs/
(C) 7L7- hrs (D) 4‘% hrs
10. With Which mysjcg] INStrument wag Ustad Alikhan associated?
(A) Shehna; (B) Flute |
(C) Sitar ‘ (D) Tabla
I1. By how Mmuch does the Sum of* 17.443 and 29.657 €Xceed
the sum of 13687 and 18:5489 |
(A) 14285 (B) 14-653
(C) 14865 ) (D) 14-586
12 A fruit vendor spjg

4] baskets at ‘R 35 6d

ai S basketg at Rs. 4¢
- per basket The average price of Mango  per basket g
(A) Rs. 44.15 (B) Rs. 44
(C) Rs. 44.25 (D) Rs. 45
13. A man travels 5 m in 6 mins, His Speed pe, hour g
(A) 00516 km (B) 0514 km
(C) S5-1¢6 km (D) 51.6 km
14. The hiol

(A) M. Everest - (B) Kanchenjunghé
(C) K2 \

| e (D) Nanga Parbgt

5. A man cams Rs. 360 PEr month, 1; income g Increased
N the ratig 1 - 130 Hig new Monthly iNcome is

- (A) Rs 3599 B) Rs. 379

‘};\N‘(C) Rs. 3900 . (D) Rg 4100 CESVSTRY

\a\}«
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|6,.(\l\/A!;oZanl:f)ngst th? followiﬁg is a famous Sarod player?
: Sa ir Hussain *  (B) Hariprasad Chourasia
(C) Siv Kumar Sharma (D) Amjad Ali Khan

17. Value of 2 is :

(A) 1441 . (B) 1414
(C) 1-144 . D)y1se
18. The Shivasamudram Falls are located on the.:
- (A) "Kaveri. & (B) Godavari |
- (C) Krishna (D) Mahanadi

19. The ratio between the length and width of a rectangular sheet
~of paper is 7 : 5. If the width of the sheet is 20-5 cm' the

~ length is : A
~ (A) 287 cm . (B) 27-5 cm
() 278cm - (D) 289 cm
20. Musical instrument used by Amir Khusro was : |
(A) Sarod . (B) Tabla - |
(C) Sitar (D)‘ Flute
and B does it in 10 days. |

71. A can finish a work in 12 days
A alone works for 8 days and then B joins him to finish
' work -together. ‘The work will be finished in :

the

5

_ . o ,
: (A) = da_)’S (B) Z*I-l” days

I

s bl S
(C)\ 1_2_ days (D) _)']_]' ddyb

| 11 .
22. The leading tea producing State of Indi
- (B) Assam

. (A) West Bengal '
- (C) Karnataka (D) Tamil Nadu

ais :

23 'Value of 5.343-25+12:1 08 .
(A) 20-069 (B) 20:069
?“f_f(C) 20-069 (D) 20-69

/
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. or 18 da}’S. The},
provisions for | Y
ildren at g camp. have provisior . will the provision,
20 Ch”dl:nb ‘ 6 n@re children. How long | \
are joined by ‘
last? ' B) 12 days
(A) 10 days ‘ (
(D) 17 days
) 15 days

i oets ore
‘avati gets Iron
25. The Iron ang Steel plant - at Bhadravat g 2
from -

(A) Bababudan Hills -

(B) Keonjhar
(C) Bailadjj,

(D) Bongj
in 3 hours_
uch time would they

“;\Vearer‘ and B alone cap knit

take workj N together

14 hourg . (B) 13 hours
(C) 21 hours - (D) 24 hou.rsA"'.' '

27. ‘Scuhy‘ dfsease isrpre‘vented by .

(A) Vitamip, ‘B-12- (B) Vitami, K
(0 Vitamin < ‘ (D)A\/itamin ‘D’

23 COWs cap plo_lwh 12 hectares N lang in 25 avs. Vumbex
OF hectape f lang that i b Ploughe by .1¢ Cowg in 20
days ¢ ‘

(A) > hectape, (B) 14 hectaleq

n O e
: Amom(-)bii’el | 10w (Z;thle Phern g IStrig| Glant
(C; -'“‘etrochemiéal | D) f(?" an.d. : Sl |

30. he toty| 'lDﬂCity of \'(. ‘) Shlp bmldm\g. ‘
ful i | Atank g 200 lireg At resent It g 609/

1watei. Ome water taken £ : 0
'S foung that e lank ; Oy 0 ] the ik and it
ken : /o ful] Che Quany;;. f‘water
(A) 3¢ litreg ’
- (C) 5 litreg
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31. lf 2 dozen apples weigh 3 I\O 600 gm, how many apples are-
there in 3 ‘boxes weighing 26 kg 250 gm each?

(A) 500 | ~(B) 510
(©) 515 (D) 525 .
32. Structural and functional unit of Kidney is :
(A) Nephridia (B) Nephron
(C) Neuron ' (D) Malpighian tubule

33. An ore contains 2 o of copper. How much quantlty of the
ore is required to get 87 kg of copper?

(A) 400 kg (B) 410 ke
(C) 425 kg (D) 435 ke

34. The average daily rainfall during the month of February.in-the
year 1808 in a city was 47 mm. What is the total rainfall
during the month of February? |

«(A) 13-63 cm. T ~(B) 13:00 cm
(C) 13-05 cm (D) 1325 em
35. The Kathiawar Penmsula is situated in :
(A) Rajasthan ~(B) Maharashira
(C) Kerala ) (D)) Gujarat

56 Grains are bouvhl at 4 ke for Rs. 28 and sold at 3 l\o for
Rs. 27. The gain or loss made by selling 80 kg grains is :
(A) Gain Rs. 100 (B) Gain Rs. 160
(O) Loes Rs. 50 (D) Loss Rs.=80

37.°10 pumps can raise 75 tons of water-in 10 hrs. .
ons ol water is

Time taken

by. |5 pumps to raise l()() t
(A) 7 hrs (B) 8§ hrs

(C) 33 8 hes | (D) 9 brs

38, Value of 4+% of 12.m is :

& (A) SOrem - - (B) 52 tm
£y 54.cm - (D) 56 cm

Scanned by Camécanner



>'d on ]5/6/0_8)
P.S.C. Clerkship Examination—2007 (He'c .

, - ' parade functjq

39. The chief guest in India’s Republic Day pa ’r N
-was : : ] »

(22?§Vladitnirputi|1 - (B) Nicolas Sarkozy
(C) Gordon Brown
In which phase o
(A) G,
(C) "S’-phase
41. Fingd the nyj,

(D) Jacques Chirac

f cell cycle DNA-replication occurs?
(B) G, : |

(D) ‘M’-phase -

40.

ber which

when decreaéed,b)’ 8% becon
506 : | |
(A) 510 (B) 520
(€) 540 - (D) 550
42, By selling a tap recoxder, for Rs. 60 a loss of Rs. 109
Suffered, |¢ the tape f€corder pe sold ip order tq gain 1
the price is :
(A) Rs. 800 (B) Rs. 806
(C) Rs. 812 (D) Rs. 818
3. ajendrg Pachayy; headeq the intemanona! Panel op
(A) Food p oduct|0n4 . (B) Climate change
- (O Refugee Settlement ( Disarmament
4.1 19 Men Can do 3 Piece Work in |30 day » then jp, i
days t},q ork cap be don by .-
(é) :1(3 men (B) 120 me;
(C) 3.3 mer (D) 150 Mme N
45, The Price of gje, "Creases f, .
\ TR : n 12 pey litre ¢ R
Per litre Fing Pereentyoe - '
‘ SY Incregg M the Price
(A) w9, :
) M (B) 331,
(€) 331,, | b
46 Ing; 0 (D) 331y, :
: (;I\dla Russj, Join milj eXerei | :
. ' 2 €in»
) ) S Unash 2007 (B) \, n 2 48 ' name(
(©) Cacyys 2007 Ura 20
(D) Indry 5,
,' -/.
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- 47. The heat producing gases present in coal gas are @

(A) H,, CO and CH,

(B) C,H,, C,H, and C_H,_ vapour
(C) CO, O, and N,

(D) CO,, butane and N

48. Find the difference between -2 of Rs. 675 and T% of

| 15
- Rs. 656 : .
(A) Rs. 204 (B) Rs. 208
(C) Rs. 212 (D) Rs. 216
49. Pushp Kumar Dahal is better known as :
(A) Paras (B) Prachanda
(C) Baburam ' (D) Girija Prasad |

50. The safety limit of arsenic content in drinking water, recom-
mended by the WHO is : | |
(A)- 0-01 mg/litre = (B) O mg/litre
(C) 0-001 mg/litre’ (D) 1 mg/litre

51. Who established Asiatic Society?
(A) William Jones (B) Max Muller

? (C) James Prmsep (D) Rajendralal Mitra

55 When Rahul Dravid completed 10.( 000 runs in Test Cricket, -

his India- companion on the field was :
- (A) Sachin Tendulkar (B) VVS. Laxman

(C) Wasim Jafar - (D) Saurav Ganguly
5"-. 2 cakes of soap: WCth 5 kg and 604 am. Find thc wewht

2.
‘ofi 5 cakes m‘kg |
' roi—these learned women belonged to

54. Apala, Lopamudra, Garg
which period? -
(A) Vedic period
"(C) Kushan period '

(B) Maurya peridd'
(D) Gupta period
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hio Examination—= =
ch C\e\\\b | o here -

wht to the east and
What is his displ

km

(A) 14 km (B) 8 1\1
(C) 10 km (D) 2d iy
56. The Tibetans mark as ‘uprising day

(A) 10th March (B) 12th J&nuaty
e B ayd ta u.ain' of 20%.
57. An article is bought for Rs 750 and is sold a g
How much more will be gained, 1fthpdrtlcle is sold a

55. A boy goes 6 km stra qcem?nt?

§ km straight to the notth.

of 30%? |
(A) Rs. 75 (B) Rs. 70
(C) Rs. 65 (D) Rs. 60

&

58. Number of tiles each 213 dm by | dm, required to cover thg

floor of a room, 20 m by 14 m is :

(A) 120 (B) 1200
f (C) 12000 - (D) 120000
[ 59. The Bangla Band that defines its music as ‘urban foik’
(A) €handrabindoo (B) Bhoomi
| (C) Fossils (D) Lakhichhdra
60. Which Gupta ruler ended the Saka rule in western India?
/ (A) Samudragupta (B) Chandragupta 1
(C) Kumargupta 1 (D) Skandagupta
| 61. Which of the following elements has no isotope? -
! (A) Sodium - (B) Uranium
(C) Carbon , (D) Chlorine

62. The perimeter of 2 square field having twice the area of :
rectangular field, 9 m by 8 m i ;

(A) 24 m (B) 48 m
(C) 64 m : D) 72 m
63. *A Writer’s People™ is authored by :
(A) Vikram Seth - (B) \/S'Naipaul

(C) Jhumpa Lahiri (D) Arundhati Rov
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L64.

The Ratha type temples of Mahabalipuram were built by :
(A) The Pallayas ‘

(B) The Cholas
(C) The Pandyas
(D) The Chalukyas of Badami

.Interest on Rs. 600 for 5 years amounted to Rs. 60. The rate

- of interest is -

66.

& “(A) 115% - (B) 2%
© 25%  (D)3w
Mechanical advantage is always less than one in a :
(A) First class lever (B) Second class lever

6.

(C) Third class lever (D) Inclined plane -

Red Ribbon- Express is :

(Ar) New Train between Kolkata and Guwahati.

(B) Mobile exhibition for bpleadm awareness about HIV/
AIDS

\

-~ (C) Rail tourism plan to connect Buddhist religious places in

68.
69.

- 0.

India ‘
(D) None of the above , _
Jaydev, author of Gitagobinda. was the court-poet of which

Bengal ruler? .
' (A) Dharmapala (B) Devapala

(C) Ballalséna - (D) Lakshmansena

The area of the path one metre wide surrounding a playground |
60 metresﬂlong and 40 metres broad is :

 (A) 264 sq. m (B) 240,sq. m

(C) 204 sq. (D) 206 sq.

The letters of Whlbh of the following series does not show .
lateral inversion infront of a mirror?

(A) APC ~(B) PSR-

(C) OMU (D) BDO
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| will cover a rogg
€, W : )
‘ \’1’ metres squar
ch 4
f stones e€a
71 Number o

40 metres square 1S

A) 1004 (B) \04(2

EC) e " 1'1(221 was built?
72. During whose reign Fatehpur Sikr

(A) Akbar

(B) Jahangir

b
(C) Shah Jahan _ (P) Aurangz-e
USS Nimitz visited the Indian port of :

(A) Mumbai “(B) Vishakhapatnam
(C) Chennai’

(D) Haldia

Source of trémendous energy in the sun is -
(A) Nuclear fusion -

(B) Nuclear fission ‘
(C) Presence of lots
(D) None of the abo o
Who was the founder of (he Sikh religion?.
(A) Gury Nanak '

| (B) Gury Arjan
(C) Gury Tegh Bahadur

(D) Gury Govind Singh
A sum of money triples itself. {},

€ rate of interest'being-
he time g ]

13.

4.

of radioactjve atoms

ve
8.

76.
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‘30 Th first preSIdent of the Indian National Congress was :
(A) Surendra Nath Banerjee ‘
(B) Womesh Chunder Bonnerjee
(C) Dadabhai Naoroji
(D) Badruddin Tyabji
81. The least number which should be added to 10000 so- that
the sum is exactly divisible by 237 is :
(A) 10191 . - (B) 19011
(C) 10911 (D) 19110
~ 82. The smallest number by which 2187 is to be divided so that
the quofiént may be a perfeét square: is : '

(A) 3 B
< 7 (D) 9
' 83. The amount from Rs. 360 for 1 year 4 months at 2 p.c. per
annum 1S .: _ 7 ’
(A) Rs. 362:50 (B) Rs. 365
(C) Rs. 368 .~ (D) Rs. 369-60
g4. Barreto, the Mohun ‘Bagan Club striker. is from :
(A). Kenya | (B) Brazil
(C). Cuba (D) Spain
85. Simplify : 5—-[3—-1-{2-(5+3-2)}]
(A) 0 | (B) -
() 1 4 - (D) 2 |
86, The capital of Brmsh India was transferred from Calcutta to
: Delhi in : |
(A) 1905 pip el L (_B) 1919

~(©) 1911 (D) 1914
87 “The least number which on adding 10 is exactly divisible by

48, 72, 84 is :
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- (B) 1018
(A) 1008 (D) 990 | :-.
), 9% an orchard with 5776 trees :and ar;a:-izs
88. :}eﬁ:"'::";;tp:s :t?u:::ber of rows equals the number o trees
in each row. The number of rows are
(A) 74 | (B) 75
() 76 ' (D) 77
89. Cooch-Behar Tréphy Is given in :
(A) Chess (B) Bridge
(C) Cricket (D) Footbal] -
~ 90. The interest on A sum of money for ;5 years at 6% g
Rs. 75. The sum s :
(A) Rs. 200 (B) Rs. 225
(C) Rs. 250 (D) Rs. 275
Y1. The ‘drain of wealth® waé ci‘iticised by -
(A) Dadabhy; Naoroji - (B) G. k. C;okhale
(©) Badruddin Tyabji (D) Rames}, Chandra: Dutt
92. The f;

—_ N

. )
action by whjep, 35

Square

(A) |
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94 Interest on a sum of money for 3 years 4 months is 2 of
; 15

~

the principal. Rate perce‘nt per annum is :

(A) Rs. 3 ~ (B) Rs. 4
(C) Rs. 450 (D) Rs. S

95. Days are Iongen in lndla in : .
(A) December | _(B) Septemb‘er‘-
(C) June - (D) March

96. The H.C.F. and L.C.M. of two numbers are 9 and 270 respec-

~tively. If one of the numbers is 54, the other number is :
(A) 40 (B) 45
(C) 50 - D)ss

97. Standing on  the side of a railway track a man finds that a
train of length 280 m crosses him in 14 seconds The speed
of the train is : ' : ' -
(A) 55%m/hr (B)"66 kmv/hr
(C) 72 kmhr (D) 80 km/hr

98. The H.C.F. of two numbers-is P and their L.CM. is Q. If

one of the numbers be R. then the other number is :
\

2 R

(A) Q

©) (D) |

99 Dtbnacharya Award is “given for excellence in :
| (B) Wrestling .

~ (A) Archery
: '(C)‘ Sports coaching (D) B()xi|1g

100. The Teesta Gorge is seen in the riverss
v (A) Upper Course (B) M ddle Course.
(C) Lower Course | (D) A its della\

b
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l. (A), 2. (A), + "3.(0), 4. (A), 5-'(D)s / |
6.(B), 7. (Dy. 8. (A).  9.(A),  10.(C),
HL(©), 12, (A, 13. (Q), 25 ©) . 15.4©),
16. (D), 7. (C), 18, (A), 19. (A), 20. (O),
21. (©),  22. (B), 2

3.(D),  24E)0 256,
26. (D),  27. (O), 28. (C), 29.(B),  30. (D),

31. (D), 32. (B) 33. (D) 34

. : . (D). C(A) 3 (D),
36. (B),  37. (0, 38.(C),  -39. (B), 4o (e

41. (D), 42, (C),  43. (B). . (D), T+ 450,
46. (D), 47, (A), 48. (D)‘,. 49. (B),  50. (C),
5i.{A),  S2.(D).- 53.(C), 54. (A),  55. A,(AC),.
Se.(A),  57. (A). 58. (C).  59.(B),  60.(B),
Gi. (A),  62.(B),  63.(B). 64. (A), 65.(B).
| 66.(C), 67.(B).  68.(D),  69.(C), 70.(C).
71. (D),  72. (A). 73.(C) T4 (A), L T5. (A,
6. (D), 77.(D). 78 (D). 79 (A), ,'*slo'., (B),
8L (A), 82. (A),  83. (D), 84 (BY. 85. (B).
86. (C)." 87.(C).  88.(C).  89.(C),  90. (C).

91. (D),  92. (A),  93.(B), 94. (B). ' 95. (C),
9. (B),  97.(C), 98 (A), " 99. ()" 106, (A).

A R e P
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PS.C. CLERKSHIP EXAMINATION—2007
(Held on 15/06/08) (2nd Hailf)

I. The first woman president of the Indian National Congress
was : |

(A) Annie Besant (B) Sarojiﬁi Naidu

- (C) Nellie Sengupta (D) Aruna Asaf Alj
.+ 208 Accordmg to Economic Survey of 2007-08, Indla s largest trade

partner is: _ -

- (A) USA 3 e (B) Russia

(©) China = (D) Great Britain

3. Which of the following atoms has no neutron in the nucleus?
(A) Nitrogen (B) ‘Hydrogen
(C) Helium (D) Neon

4. The author of the drama, Nildarpan was :
(A) Michael Madhusudan Dutt
(B) Dinabandhu Mitra
- (C)- Dwijendra Lal Roy
(D) Girish Chandra Ghosh
5. A rectangular court 60 metre long and 40 metre broad has
within it a path 2 metre wide round it. The area. of the path

T ,
(A) 348 sq.m | - (B) 384 sq.m
(C) 380 sq.m - - (D) 388 sq.m

6. Which of the following is not a part of Indo-US Ne\t Steps
in Strategic Partnership?
(A) High Tech trade (B) Missile Defehce
(C) Space Co-operation (D) Aids prevention
- 7. The perimeter of a square equal in ai a to two squares whose
Sides are 8 m and 15 m respectiveiy in length is :
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6 P.S.C. Clerkship Examination———2007 =
(A) 17 m (B) 34 m
(C) 68 m (D) 280 m d : kmetlc enelgy;
‘8. If the velocity of a particle in double lS
" becomes | i , :
| (A) Double (B) Four Flmes -
(C) Half - (D) One-fourth | .
9. Who was known as the mother of Indian revolutionaries?
(A)- Sister Nivedita (B) Madame Cama
(C) Annie Besant (D) Matangini Hazra
10. First Indian Wicketkeeper to lead a Test Team is :
(A) S. Kirmani -~ (B) F. Engineer
(C) K."More . . - (D) M. S. Dhoni

[1. When the angle of incidence is equal to the eritical anole the
- angle of refraction is :

=

(A) 0° (B) 90°
(©) 30° (D) 45° :
12. The principal that will amount to Rs. 1300 in 2% years a
12% per annum is : - |
(A) Rs. 900 - (B) Rs. 1000
L) Rs. 1100 . (D) Rs. 1200
3. The Deccan Trap is made up of : |
(A) Basalt - | (B) Granite
(C) Gneiss (D) Laterite

14. In aiticle is sold for Rs 1350 at a loss of Rs. 1.50. Find tt
loss as percent : k | |

(A) 8% | (B) 9%

(C) 10% oD%
15. The team Lahore Badshahs in 1CL - was led b
(A) Imran Farhat '« (B) Shahid- Afridi

(C) Slfoalb Malik (D)‘lnzamam-ul-Haq

16. Find the fraction which is

3

as much greater than % as is le
‘than 2 .
4

7
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17.

18.

19.

: 2%

21.

22

23.

. Interest on Rs. 400 for 2 years 6 months at 740

p Exan1inati6)1-—2007 (Held on 15/6/08)

17

(A) 3 . 3

| 3 (B) 6
© ) £

| - B 16 :
The migrating sand dunes of the Thar Desert are called :
(A) Marusthali (B) Barkhan |
(C) Dhrian ‘

(D) Seif
The least number of 4 ({;

Igits which is perfect square is :

i (B) 1042
(C) 1024

, (D) 1100
The amount from Rs. 200

7 200 for 3 years at | paise per rupee
per month interest is : |

(A) Rs. 200 (B) Rs. 72

(C) Rs. 272 (D) Rs. 250

Agha Khan Cup is given in - -

(Ay Chess (B) Hockey |

(C) Football (D) Table Tennis
Chhotanagpur is a —— plateau. |

(A)' Intermontare (B) Dissected

(C) Desert

(D) Lava

5 Y0 per annum

i5 : g
(A) Rs. 65 (B Rs. 70
(C) Rs. 75 . (D) Rs. 80

The smallest number by which 486 is to be multiplied to make

‘the product ‘a perfect square is :

L (A) 2 | (B) 3.

2,

2-F

© 4 R I
The number of goodluck dolls forming the Beu_mg Olympic
Mascot is : :

(A)2 th &
(©€) 5 a2 P oo F
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'25. The Commercial Cdpltal of(l;;d[l)ae‘;]sl 2 | ¥ 3
(A) Mumbai o e

(C) Kolkata
26. A sum of money doubles itself,

being 12%. The time is :

the rate of interest per annyy,

| .
(A) 8 years 4(B) 83 ye.ars:

(©) 82i years (D) 8—:1— years.

27. The Narmada rises in the : y
(A) Satpuras - (B) Mahadev Hills

(C) Amarkantak (D) Mahendragiri
28. The sum lent at 5% interest p.a. will produce l_ rupee interest

a day is : , .
(A) Rs. 7300 . . (B) Rs. 7030 B
. (C) Rs. 7003 (D) Rs. 7303
29. The only cncketer awarded Rajiv Gandhi Khel Ratna s :
(A) Sunil Gavaskar (B) Kapil Dev ' :
(C) Rahul Dravid - (D) Sachin Tendulkar
30. is a gap in the Sahyadris.
(A) Palghat - (B) Thalghat
(C) Western Ghat (D) Eastern Ghat
31. The number multiplied by itself, will gave 172225 is .
(A) 400 (B) 415 :
(C) 420 (D) 425
32. The largest 4 digit number which is exactly divisible by 135
IS : ]
(A) 9999 (B) 9099
(C) 99% ~ . (D) 9009

33. Who among the following is famous as' the ‘Tragedy Queen’
of Indian cinema? A\ -

(A) Madhu_bala o (B) Rekha
| (C) Mina Kumari (D) Hema Malini
-8

y
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.34, Regur soil is rich in :

(A) Lime , (B) Humus-
(C) Iron | . & (D) Salt |
35. The Interest on Rs. 425 for 5 years is Rs 21-25 Rate‘ 6f
interest is : : 3 ' ' ’
(A) 1% (B) 1-25%
(C) 1-50% : ' (D) 1-75%,

+36. The smallest whole number by which % should‘b'e multiplied

50 that the product is a fraction -which is a perfect square

1§ g T
(A) 3 ®) s
(€) 7 (D) 9
37. Mallika Sarabhai is associated with which of the following
fields? | LIRS i |
~ (A) Social Service  (B) Classical Music
(C) Classical Dance (D) Sports
38. Simplify : '
' *-.']_ X
e wthi®
Iy, %
o 1=x
(A) 1. ' - (B) zero
(C) x (D) 1 + x
39. The largest cotton weaving centre of South India is :
(A) Chennaij - . (B) Coimbatore
- - (C) Pondicherry - (D) Mysore

40. Amjad Ali Khan is associated with which of the following
musical instruments? -
(A) Violin (B) Sitar
| (C) Veena ' (D) Sarod
" 41. Time 'taken by a train of length 120 m moving with a speed
of 60 km/hr to cross a bridge of length 330 m is : ‘
(A) 20 sec (B) 24 sec
- (C) 27.sec’ "~ (D) 30 sec
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in the ratio 4 : 7; and theml——;
42. Two numbers are n t\e. |
I8. the greater number is - ‘
(A) 24 (B) 42
B a2 iy industry,
43, Artificjq] fibres are products of the ——
(A) Cottop Weaving (B) Jute R
©) sik (D) Petro-chemical
. | 1 '
44 The LCMm. and G.Cm. of two numbers-;are 3 and\ll
respectivel} If I'CCiprocy| of one number ig 6l4 the oth
Numbey Will be
16 .
W s (B) |
(C) 25 (dy glgﬁé .
45, Kamg| Hasap, aSs0cigt d wig,
(A) Filmg
B
() Educatiq, EDI) Music
- 44, persons an fyy, ] Piec ol 5
©of worl -
1lsda day Numbpe, & Persong Or\];.;l] 3 day Workip
" da {ing W fin; I
() Y \\()ll\mb 8 hrs day i« S that Work
(C) o (B) g
‘ D
47, lndlas 8reateg mica | | (D) IQ
(A) anchj S lL‘OUnd in
‘© “Odarp, (8) Rakha-'h:lls
8. The ratig Stweey, | al (D) Ghatshi]a
. And o
S8 p, re are " fema) teache,. -
MUmber €ach “Male Cache in 1} a S(3}1001
~ . n 1
A) 35 ' | €8 00l the ¢
© 7 (B) 65
(D) g,

Scanned by CamScanner



52.

A r——— . -

55

- the work in :

© 50,

" 'ps.C: Clerkship Examination—2007 (Held on' 15/6/08) 2!

-'49 Vilayat 'Khan is associated with : .
B (A) Painting (B) Classical Vocal Music

"»VQ(C) Light Music (D) Instrumental Music
Hugo Chavez is the President. of :
(A) Nicaragua (B) Brazil
"/ (C) Venezuela ' (D) Colombia

:  In a camp, there was sufficient food for 250 students to last
for 18 days. Find how long the food last if 50 additional students-
join the camp?

(A) 15 days (B) 12 days

(C) 16 days (D) 20 days
The product of two numbers is 45 and the sum of their squares

IS 1()_6 The numbers are

“(A) 5 L ®
- (0) 45 I ' (D) 12, 4
_ Other than the Samjhauta Express, the train lhat Iml\s Indla

and Pakistan is :

(A) Thar Express

(B) Moitree Express

(C) Delhi-Islamabad‘Express.
(D) None ‘of the above

Urea is syhthesized n : _
(A) Liver N - (B) Spleen
(C) Heart - (D) Stomach,

A. B and C individually can do a work in 6 days. 8 days

and 12 days respectlvely.'lfthey work together. they will finish

- (A) 22]1- days (B) 3l days
.-‘I.(C) 3% days (D) 2% days

Scanned by CamScanner



3/6/08)
Held on 13
Clerkship Examination—2007 (

PS.C. Cle

\
in 4 days. A alone Wouq
ther can do a work in 4 day
1er
56. A and B toge

uch time would B alone takg

take 6 days to do ili(?How much

do the same wor ) .
8{) 8 days (B) IOCX‘YSS
(C) 12 days (D) 14 ay_:
- Cauvery River water dispute involves :

(A) Karnataka and Tamil Nady
(B) Kerala ang’ Andhra Pragesh
(C)- Tamil Nady a4 Andhra Pradesh

(B) Nephron
(C) Liver (D) Pancreas.
A travelleq 5 Kkm in an hoyr Distance trave]|eq by him mn 3
Minutes i .
(A) 4-166 1 (B) 0-41¢6
(©) 416-67 (D) 41667 n
Gorkha Janm kti rcha g headeq b
(2) Sl}bh&l Gh shing (B) Viﬁay amang
if isB.lmaleur ne (D) rashany Tarndng
IS subty ted frq 3 tineg ‘ iff;
100. The Nuinber IS : number, the dlffercnce 'S
A) | ‘
EC)) s ) 125
(D) 29
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i S
63. The greatest number of 3 dlglt:. which is exactly dlwsnble by

28 and 40 is :
(A) 999 ~ (B) 100
- (C) 109 | (D) 840 |
' 64. The Indian to score highest run in an innings of a Test Match
is o ' | B ‘
(A) Sunil Gavaskar (B) Sachin Tandulkar

. (C) Virendra Sehwag (D) Rahul Dravid
65. A can finish a work in 12 days and B does it.in 10 days
-A and B, working together, can finish 5 times the work

in:
(A) 20 days . ®B) -20%— days
(C) 252"— days (D) 271] days

66. In- which phase of mitotic cell division sister chromatids are_

separated?
(A) ‘Prophase . (B) Metaphase
(C) Anaphase - - (D) Telophase

67. Apart from Tibet, in which of the following provinces of China
the Tibetans are settled?
(A) Qinghai | . (B) Gansu
(C) Yunnan - (D) All of the above
68. Average daily income of 8 men is Rs. 13-20 and that of another
. group of 14 men is Rs. 12:10. The average daily income of
~ these 22 men is : v ' ’ |
(A) Rs. it "~ (B) Rs. 12:50"
(C) Rs. AR (D) Rs. 1325
69." A typist types 70 pages in 3 hours 30 minutes. How long will
L3 she take to type 300 pages?
(AY 12 hours -~ (B) 14 hours -
(C) 15 hours . " (D) 16 hours
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70. The Bangla film *Anuranani 15, ¢¥
| (A) Aniruddha Roy Choudhury
(B) Rituporno Ghosh
(C) -Sandip Ray | | ’ ‘.
18 man e e i ' nen will earn Rs. 112
71. 15 men earn Rs. 630 in 12 days. 4 me |

n: , -
(A) 6 days (B) 8 days
(€) 10 days (D) 12 days

72. Product of two numbers s 4032 and their H.C.F. is \2 Their
- L.CM. is : ‘

(A) 330 (B) 340
(C)F 336 (D) 346
73. Value of V3 js - ; teg
(A) 1372 (B) 1273
©) 1932 (D) 1700 ~
74. The main villain in Harry Potter novels is :
(A) Voldemort
(B) Dumbledore
(©) Ron Weasley
(D) Hagrid
5. 25 men cap, dig a p 2 i 25
A °_a pond, 12 long, in 20 days. In 25 days
M fong pond can pe dug by . |
(A) 3Q. men B) 32 men
- (€) 35 Mmen (D) 3% Mmen
76. Who first decipheled the Asokan :
@ w an NSCriptiong9
Ham Jopeg (B) Ma
(C) Jameg Prinse (D) ol
17..1f the mean of |5 ]4 arles Wllkms
of T el ’8i316ﬁnd
) the valye
@) g * e
(€)- 10 B
(D) 1
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78..wl“4t fraction is 270 gm of 3 k’i\logram‘?
3 : : : | ‘ |
A) S 9
(A) 570 o B yg
.l 9
©€) 3 | D) 30

79. 6 men can unload coal from one truck in 5 hours. Number
of hours taken‘ by 15 men to unload coal from 3 trucks

is : 3
(A) 4 hours .- (B) 6 hours
- (C) 8 hours A (D) 10 hours
80, What was the name of the son of Gautam Buddha?
'._,(A) Rahul . - (B) Ananda
- '(C) Upali S (D) Mahendra
81. 25 gms NaCl is present in 250 ml solution. The percentage
strength of the solution is : . ‘
(A) 11:1% (B) 9%
(C) 10% £ e 8 (D) 25% |
§2. What per cent is 26 seconds of 6 minutes 30 seconds?
(A) 6% «(B) 6%%
©) 61w (D) 6%%
J .

_Value of -81 x -005 s .
83, Vaiue 0 ‘ .4‘_45

(Ay 009 - (B) -009"
W(@) 19 ey B (D) 009
84. Wh_o.vcompo'se'd-' the -Allahabad Prasasti of Sa
(A) Harisena (B) Kalidas
* (C) Bijaygupta " (D) Basubandhu
85, Léngth, of fencing required 1o fence a square
‘square metre JS ' |
- (A) 42 m
(C) 48 m

mudragupta?

feld of 441
(B) 84 m
- (D) 24 m

1
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88.

89.

90.

91.

92.

| C"H,f

(C) H,N—CH,— (D) fN**
[f 2-5% of a number is 15, the number 1S
(A) 500 (B) 55%

600 ' (D) 65 ‘
gglzich Delhi Sultan adopted measures to control. market and
prices?
(A) [Itutmish ' o 3
(B) Balban
(C) Alauddin Khalji
(D) Muhammad Bin Tughlaq 0
Find the number which when :ncreased by 307 becomes
39 : T
(A) 30 (B) 32
(C) 34 (D) 36
y-ray is : .

harged particles

*(A) A stream of positively ¢

(B) Electro-magnetic wave
(C) A stream of negatively charged particles .

(D) None of the above
The number of voters in a town is 1,20,000. Out of them,

75% go for poll for an election between A and B. If B gets
45% of the votes polled, the votes polled for A is :

(A) 49,500 (B) 47,000
- (C) 49,000 - (D) 47,900
Who introduced the Kabuliyat and Patta system?
(A) Alauddin Khalji (B) Sher Shah
(C) Akbar (D)‘ Aurangzeb

|
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93.

94.

1595,

96.

497.

The circumference of a steam roller is 2 metres 'and it is. 6
decimetres wide. Ground passed -over by the roller in 120
complete revolutions is

(A) 1_40 sq.m " (B) 144 sq.m

(C) 148 sq.m : (D) 160 sq.m

A body of mass 25 kg is acted upon by a force to produce
an acceleration of 5 m/sec®. The force is ; '
(A) 125 Newton - (B) 5 Newton

(C) 125 dyne (D) 100 Newton

12% of a money is Rs. 63. What is 40% of the money?
(A) Rs. 200 (B) Rs. 210 '

(C) Rs. 220 (D) Rs. 230

A shop-keeper buys three articles for Rs. 375, Rs. 580 and
Rs. 428. He is able to sell these articles for Rs. 436, Rs.
635 and Rs. 350 respectively. The loss or oam to the shop-
keeper on the whole is :

- (A) Gain Rs. 40 (B) Loss Rs. 40

(C) Gain Rs. 38 (D) Loss Rs. 38

The founder of the Husain Shahi dynasty in Bengal was :
(A) Husain Shah

(B) Nusrat Shah

"(C) Ghiyas-uddin-Mahmud Shah

E (D} Raja Ganesh

98

A piece of cloth is 24:5 m long How many pieces, each of
length 1:75 m can be cut from it? .
(A) 14 - (B) 15

4_(C) 16 - " (D) 17

. 99.

100.

A florist bought 240 roses at Rs. 9 per dozen. If he sold all
- of them at Re. |. each his profit percentage 1Is
(A) 33%% 1y Y (B) 333%
© Btw O BL% B
The- author of Ain-i-Akbari was : '
(A) Akbar (B) Abul Fazal

"(C) Faiz (D) Jahangir
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- (A),

- (B),
. (B),
. (O),
. (B).
. (B).
. (B),
. (A),
(©),
- (A),
- (A),
. (C).
(O,
. (B).
. (B).
. (),
. (O).
. (B),
. (A).

. (C),

. (C),

. (0).
- (B),
. (C).
. (),
. (O),
. (O),
(A),
| (B),
. (O),
. (A),
. (A),
. (D).
. (A),
. (O),
. (C).
. (D),
. (O),
. (B).

- (C),

ANSWER )

8. (B),
13, (A),

18. (C).
23. (D).
28. (A),

33. (),
4 38' (A)-

3. (A).
58. (D),
63. (D).
68. (B),
73. (C).
78. (B).
- 83. (A).
88. (C),
93. (B).
98. (A),

3. (B),

43. (D),
. 48. (D),

wid%u(B), - 100
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A

(D)™

4.(B), 5.(B),
9. (B),. 10. (A),
14. (C),  15. (D),
19. (B),  20. (B),
24. (C), 25 (A).
29. (D), 30. (B),_
34. (A),  35.(A),
39..(B), - 40. '
44. (B),  45. (A),
49, (D), 50. (C).
54. (A),  55. (D).
59. (B), 60. (B).
64. (C),  65. (D).
69. (C).  70. (A).
74. (D), 75, (©).
79.(B),  80. (A),
84. (A),  85. (B).
89.(A), 90, (B).
9. (A), 95 (B).
(B).



